Unit 3 — Chapter 3 Name

Assignment #2 Period

1) The most common form of nylon (nylon-6) is 63.68% carbon, 12.38% nitrogen, 9.80% hydrogen,
and 14.14% oxygen. Calculate the empirical formula for nylon-6.

2) Asample of urea contains 1.121 g N, 0.161 g H, 0.480 g C, and 0.640 g O. What is the empirical
formula for urea?

3) A compound contains only C, H, and N. Combustion of 35.0 mg of the compound produces 33.5
mg CO; and 41.1 mg H,0. What is the empirical formula of the compound?

4) A compound contains only carbon, hydrogen, and oxygen. Combustion of 10.68 mg of the
compound yields 16.01 mg COzand 4.37 mg H,0. The molar mass of the compound is 176.1
g/mol. What are the empirical and molecular formulas of the compound?



